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B.Com. (Part-1ll) Examination, 2020
(Faculty of commerce)
(Three Year Scheme of 10+2+3)
ECONOMIC ADMINISTRATION AND

FINANCIAL MANAGEMENT
Paper-Il|
(Business Budgeting)

Time Allowed: Three Hours
Max.Marks:100

Note: (I). Attempt any five questions in all, selecting one question from each Unit.

msﬂ#ﬁﬁwmaaﬂmmg@,ﬁ'qﬁrmamm?l

(ii) No supplementary answer-book will be given to any candidate. Hence the Candidate
Should write the answers precisely in the main answer-book only.
Rt ofr st A R IER-gfREE A & SN v Sl & aRd B ¥ e
Ia-giead # & wAra wAl & 39

(iii) All the parts of one question should be answered at one place in the answer-book. One
Complete question should not be answered at different places in the answer-book
ol ot T WA & e 9B a0 R vl & 39 I-afaaer § dee-se ®uE W
T &8 & Y, UF & B 9 g F:

Unit-'I'
oI
1. Define the budget. Describe the essential qualities of an effective budget.
T F i fifSw g a5 F wEas quit # e A
Or/ 3ryar
Shobhit Industries Ltd. Production costs are as follows
{1) direct material cost % 2,50,000
{ii} Direct labor cost X 1,75,000
{ili) production overheads
{a) Stable. % 55,000
(b) Variable, X75,000
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Production management expects the fallowing changes in the coming year: -

(a) The rate of direct material will increase from % 10 per unit to X 12 per unit.

{b) The hourly rate of direct labor will increase from X 7 per hour to X 10 per hour,
(c) Production efficiency will be reduced by 5%.

(d)10% increase in each labor hour,

{e) Other expenditure will remain unchanged.

Make a production cost budget.

NPT svsES fo. i Fearea weg = we R £

() WomeT TrEdT ST ¥2,50,000
(i) WeTeT A7 ST T 1,75,000
(iii) 3ees FIUufeaa

(a) TaarT 755,000

(b) TRETE 775,000

IHTEA FaUd W I a4 H e af@dat & amem & g

(a) TemeT |rAEAT Fr 2T 210 9y 318 &7 a7 & q@=7 12 9fy s g sreeh
(b) TeTET AF Y 9y Uer &Y 37 9fy "er ¥ aEay 710 giy ger g Freedn
(c) Bees FUTAT 5% FH g Fream

(d) Wi &7 " & 10% #r gefr gein

(e) 3T =@q IUNETda @Al

3cHTE dFd 9= a9 |

Unit-“Il*
Eearaly
What do you understand by business forecasting? Discuss the principles of business forecasting.
FAEREAAE ETA F AT F A {7 AEE @A & Reurdr # fadea fifse
Or/ 34t

With the help of the following information, find that if the demand for the product honey is 100 in Bombay (X), then
the product What will be the demand for honey in Kolkata (Y)?

{i) Average demand of Mumbai (X). 40
(ii) Average demand of Kolkata (Y). 45
(iii) Standard deviation of Bombay. 4
{iv) Standard deviation of Calcutta. 35
(v) Correlation multiplier. 9

et gaanit & wemar ¥ a7 W Afe F 77 3eae 7y F A9 @ (0 F 100 ¥ @ 392
AY & AT FFA(Y) A F0 @

(i) Fag $r taa w(X). 40
(il) SrereRar Fr 3taa 7AW (). 45
(ii}) & T TAT faae. 4
(iv) FoFar &7 TATT 3=, 35
(v) HEHFEAT T[0T, 9
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Unit-“lNr’

THTE-1I|

3. What are the objectives of budgetary control? Explain the difference between the budgetary control and cost effect
method,

el AT F 3w FiF-Fla ¥ §? ol R v e ana RN & s Fave Hf
Or/ 3var
With the help of the following information, make a cash budget for the period from April to June and show that

How many bank surpluses will be required at the end of each month
Notifications:-

Month Sales Purchases Wages
L4 4 ¥
February 1,80,000 1,24,800 12,000
March 1,92,000 1,44,000 14,000
April 1,08,000 2.43,000 11,000
May 1.74.000 2,46,000 10,000
June 1,26,000 2,68,000 15,000

Additional Information
n 50 percent of the loan sale is recovered in the next month of the sale and the remaining 50 percent of the
sale amount is recovered in the second month of the sale. She goes. The creditors are paid after one
month of purchase.
(ii).  The bank balance as on 1 April is 1,15,000.

=t gEemad & agraar @ sile @ 5@ ad & @l & e dws gore agd ok qufzd %

Wl ATg & ot | fhaa da aftfaend & smavaasar ght-

ga=d-
Month Sales Purchases Wages
February 1,80,000 1,24,800 12,000
March 1,92,000 1,44,000 14,000
April 1,08,000 2,43,000 11,000
May 1,74.000 2,46,000 10,000
June 1,26,000 2,68,000 15,000

Hfafs gaard-

(1)3uR farema & 50 widwa e & e wet o age gl Siran & aun 9 50 nive e il R & oxr A ¥ agd 8t

St @1 SRR @t A & U AR UTa T i e gl
(ii)1 3% # d& I 1,15,000 &1
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Unit-“Iv’

THIS-IV
What does product and product decision mean? What kind of decisions under product and product decision
Are taken explain.

3eOTE T 3c9E fAUIT ¥ 1T 3w 32 3 UF 3o faviy ¥ s B v ¥ o
o s & wEETE)

Or/ 3ar

Collective Ltd. The manager of the company has presented the following information regarding its two products X
and¥ -

| Particulars ProductX Product Y
Direct material per unit 400 360
Direct wages (@ X 2 per 120 80

hour) per unit

Selling price per unit 800 60
Variable overheads per 120 80
unit

Total fixed overhead per 32,000 32,000
annum

Explain which of the following product-mix should be adopted for sale
100 units of X and 200 units of Y
150 units of X and 150 units of Y
200 units of X and 100 units of ¥

FAIEAT . & A4S A 399 A IRl xaw vF wEew A fnmffle gueant wge @ E

Particulars ProductX Product Y
SeaeT WA 9fey grg | 400 360
TeUE AN (@32 9 | 1o 80
ge & 2T A) Wy swre

A i g 800 60
gfgaaie 3yafieay
gfer s 120 80
Fo o ufeaa 32,000 32.000
CIGELS
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Fasd Al & ¥ #9171 3o - T e gg svemar s

X #Y 100 st IuT ¥ #Y 200 THBAT

x$Y 150 zargat qur vHr 150 swEar

X7 200 sl FuT YH 100 IRl
Unit-"V’
FFE-V

What do you think about project planning? Depend on the financial support of 12 projects.

gf@r=er foraenT & 39+ §AFa 12 qfraaar & fadr ggrmar &1 ReEaa fifaw)

Or/ 3ryar

Find the weighted average cost of capital from the following information

Sources of Capital | Amount (rupaye.)
40,000 parity share (fully paid) 4,00,000
3000 6% Letter of credit 3,00,000
2.0006% preferential share 2,00,000
retained earning 1,00,000

In the past years, the share per par has been increasing. Parity is selling at par in the market. Suppose the
corporation’s tax rate of 50 percent. The tax liability of the shareholders is 25 percent.

Frefafae srerd @ goit & wika siaa arma @& gar @

Sources of Capital Amount (rupaye.)
40,000 parity share {fully paid) 4,00,000
3000 6% Letter of credit 3,00,000
2.0006% preferential share 2,00,000
retained earning 1,00,000

froa aul #, ofy e Rs ag @1 &)1 I & wraar RE @ &)1 3= iy s Femy & e = 50 vl g
frauRE & ar & 25 i 1

.
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